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Time : 3 Hours] [Max. Marks : 70
Instructions to the candidates:

1) Questions No. 1 and 8 are compulsory.
2) Attempt any 3 questions from questions 2 to 7.
3) Figures to the right indicate full marks.
4) Draw neat diagrams wherever necessary.

P2841

Q1) A) Rewrite the following sentences by using proper substitute given in the
bracket (any seven). [7]

i) The nature of business Economics is not theorotical, but it is ____

(Descriptive, Business, Functional)

ii) The main objective of firm is to earn _________

(Money, Prestige, Profit)

iii) Price is treated as _________ variable.

(Independent, Complimentary, Internal)

iv) ______ refers to want satisfying power of a commodity.

(Consumer equilibrium, Utility, Utilisation)

v) Prof. Hicks, analysed the indifference curve in his _________ book.

(Wealth of Nation, Business Economics, Value and Capital)

vi) Other things remaining the same, the quantity of _______ decreasing
then in creasing in quantity demanded.

(Price, Utility, Export)
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[5615]-1003 2

vii) __________ means the amount of a product that would be offered
for sale at all possible prices during a given period of time.

(Demand, Supply, Utility)

viii) Factors of production is known as ________

(Output, Production Function, Input)

ix) In the short run phenomenon as the proportion of one factor is
increased this analysis is exhibits the ________

(Law of variable proportion, Law of Returns to Scale, Law of
Demand.)

B) State whether the following statements are False or True (any seven) [7]

i) Business Economics is useful in formulating business policies.

ii) In the short run, some cost as variable and in the long run, some
cost are fixed.

iii) Utility is not relatives as individual, time and place.

iv) Marginal utility of money is fixed.

v) Two indifference curve inter sect each other.

vi) The demand curve is alway's left to light which is shown down
word slope.

vii) In the case of substitutes goods cross elasticity is negative.

viii) Production function is givens information about input and output.

ix) In the one industry, exists to firms shown different-different internal
economics.

Q2) What meant by Business Economics? Explain Nature and Scope of Business
Economics. [14]

Q3) Distinguish between micro and macro economics. [14]
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[5615]-1003 3

Q4) What is indifference curve? Explain characteristics of indifference curve.[14]

Q5) What is consumer surplus? Explain the consumer surplus measurement. [14]

Q6) What is price elasticity of demand? Explain various types of price elasticity of
demand. [14]

Q7) Explain Internal and external economics of large scale of production. [14]

Q8) Write short notes (any two) : [14]

a) Firms

b) Types of Utility

c) Cross Elasticity of demand.

d) Average Production
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(_amR>r ê$nm§Va)
doi : 3 Vmg]                      [EHy$U JwU : 70
gyMZm :- 1) àíZ H«$. 1 d 8 Amdí¶H$ AmhoV.

2) àíZ H«$. 2 Vo 7 n¡H$s H$moUVohr VrZ àíZ gmoS>dm.
3) gd© àíZm§Zm g‘mZ JwU AmhoV.
4) g§X^m©gmR>r ‘wi B§J«Or àíZ n{ÌH$m nhmdr.
5) Amdí¶H$Vm Agob VoWo gw~H$ AmH¥$Ë¶m H$mT>m.

P2841

àíZ 1) A) H§$gmVrb ¶mo½¶ n¶m©¶ {ZdSy>Z dm³¶ nwÝhm {bhm. (H$moUVohr gmV) [7]

i) ì¶mdgm{¶H$ AW©emómMo ñdê$n ho g¡Õm§{VH$ ZgwZ ........ Amho.

(MMm©Ë‘H$, ì¶mdhm[aH$, ’$bZmË‘H$)

ii) CÚmoJg§ñWoMm ‘w»¶ CX²Xoe .......... {‘i{dUo hm AgVmo.

(n¡gm, à{Vð>m, Z’$m)

iii) qH$‘V ho ........... Mb Amho.

(ñdV§Ì, nañnanwaH$, A§VJ©V)

iv) ì¶º$sMr JaO nyU© H$aÊ¶mMr dñVwÀ¶m A§Jr AgUmar eº$s qH$dm j‘Vm åhUOo
....... hmo¶.

(Cn^mo³Ë¶mMo g§Vmofm{Y³¶, Cn¶mo{JVm, Cn¶w³VVm)

v) àmo. {h³g ¶m§Zr Amnë¶m ......... ¶m J«§WmV g‘d¥Îmr dH«$ {díbofU ‘m§S>bo Amho.

(doëW Am°’$ ZoeÝg, {~{PZog BH$m°Zm°{‘³g, ìh°ë¶y A°ÊS> H°$nrQ>b)

vi) BVa n[apñWVr H$m¶‘ AgVm§Zm dñVwMr .........KQ>ë¶mda {VÀ¶m ‘mJUrV dmT> hmoVo.

(qH$‘V, Cn¶mo{JVm, {Z¶m©V)
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[5615]-1003 5

vii) {d{eï> doir {d{eîQ> qH$‘Vrbm {dH«o$Vo {d{eï> dñVwMo {H$Vr ZJ {dH«$sg V¶ma AgVmV
Ë¶m ZJg§»¶obm ............ åhUVmV.

(‘mJUr, nwadR>m, Cn¶mo{JVm)

viii) CËnmXZ KQ>H$m§Zm ............ Ago åhUVmV.

(àXmZ, CËnmXZ ’$bZ, AmXmZ)

ix) AënH$mimV CËnmXZmMo BVa KQ>H$ pñWa AgVmZm ~XbË¶m KQ>H$m§Mr g§»¶m EH$
EH$Zo dmT>{dë¶mZ§Va CËnmXZ ’$bZmda H$m¶ n[aUm‘ hmoB©b ¶mMo {díbofU .......
H$aVmo.

(~XbË¶m à‘mUmMm {Z¶‘, à‘mU ’$b {Z¶‘, ‘mJUrMm {Z¶‘)

~) MwH$ H$s ~amo~a Vo {bhÿZ dm³¶ nwÝhm {bhm. (H$moUVohr gmV) [7]

i) ì¶mdgm{¶H$ YmoaUm§Mr ‘m§S>Ur H$aÊ¶mgmR>r ì¶mdgm{¶H$ AW©emó Cn¶wº$ R>aUmam
{df¶ Amho.

ii) AënH$mimV H$mhr IM© ~XbVo AgVmV Va XrK©H$mimV gd© IM© {ñWa AgVmV.

iii) Cn¶mo{JVm ì¶{º$gmnoj, H$mbgmnoj d ñWbgmnoj ZgVo.

iv) n¡emMr {g‘m§V Cn¶mo{JVm {ñWa AgVo.

v) XmoZ g‘d¥Îmr dH«$ nañnam§Zm N>oXVmV.

vi) ‘mJUr dH«$ hm S>mdrH$Sy>Z COdrH$S>o Imbr CVaV OmUmam F$UmË‘H$ AmH$mamMm
AgVmo.

vii) XmoZ nañnanwaH$ dñVw§À¶m ~m~VrV N>oXH$ bd{MH$Vm F$U AmT>iVo.

viii) CËnmXZ ’$bZ CËnmXZmÀ¶m ~m~V AmXmZ d àXmZmMr ‘m{hVr XoV AgVo.

ix) EH$mM CÚmoJmV AgUmè¶m XmoZ CÚmoJ g§ñWm§À¶m A§VJ©V ~MVr doJdoJù¶m amhÿ
eH$VmV.

àíZ 2) ì¶mdgm{¶H$ AW©emó åhUOo H$m¶? ì¶mdgm{¶H$ AW©emómMo ñdê$n d ì¶mßVr ñnï> H$am.[14]
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[5615]-1003 6

àíZ 3) gwú‘ AW©emó Am{U g‘J« AW©emómVrb ’$aH$ ñnï> H$am. [14]

àíZ 4) g‘d¥Îmr dH«$ åhUOo H$m¶? g‘d¥Îmr dH«$mMr d¡{eï>ço ñnï> H$am. [14]

àíZ 5) Cn^mo³Ë¶mMo g§Vmofm{Y³¶ åhUOo H$m¶? Cn^mo³Ë¶mÀ¶m g§Vmofm{Y³¶mMo ‘mnZ ñnï> H$am. [14]

àíZ 6) ‘mJUrMr qH$‘V bd{MH$Vm åhUOo H$m¶? ‘mJUrÀ¶m qH$‘V bd{MH$VoMo {d{dY àH$ma ñnï>
H$am. [14]

àíZ 7) ‘moR>çm à‘mUmd[ab CËnmXZmÀ¶m A§VJ©V d ~mhç ~MVr ñnï> H$am. [14]

àíZ 8) {Q>nm {bhm. (H$moUË¶mhr XmoZ) [14]

A) CÚmoJg§ñWm

~) Cn¶mo{JVoMo àH$ma

H$) ‘mJUrMr N>oXH$ bd{MH$Vm

S>) gamgar CËnmXZ CA
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